October 2014

Fundamental IT Engineer Examination (Morning)

Questions must be answered in accordance with the following:

Question Nos. Q1- Q80
Question Selection All questions are compulsory.
Examination Time 9:30- 12:00 (150 minutes)

Instructions:

1.

Use a pencil. If you need to change an anssvase your previous answer completely

and neatly. Wipe away any eraser debris.

2.

Mark your examinee information and your answargccordance with the instructions

below. Your answer will not be graded if you dd nmark properly. Do not mark nor
write on the answer sheet outside of the presciteces.

(1)

(2)

3)

Examinee Number

Write your examinee number in the space provided, mark the appropriate space
below each digit.

Date of Birth

Write your date of birth (in numbers) exactly assitprinted on your examination
admission card, and mark the appropriate spaceviedch digit.

Answers

Select one answer (a through d) for each question.

Mark your answers as shown in the following sangplestion.

[Sample Question]
Q1. In which month is the autumn Fundamental IT Enginé&xamination
conducted?
a) September b) October c) November DBcember

Since the correct answer is “b)” (October), markiryanswer sheet as follows:

[Sample Answer]

Q1 O ® © O

Do not open the exam booklet until instructed to do so.

Inquiries about the exam questions will not be answered.




Symbols commonly used in questions

Unless otherwise noted in each question, the faigwiotational conventions are applied as
shown in the tables.

|. Standards

in the I:Q;arlrt:oqnuestions Name of the standard
ISO 9001 ISO 9001:2008
ISO 14001 ISO 14001:2004
ISO/IEC 20000-1 ISO/IEC 20000-1:2011
ISO/IEC 20000-2 ISO/IEC 20000-2:2012
ISO/IEC 25010 ISO/IEC25010:2013
ISO/IEC 27001 ISO/IEC 27001:2005
ISO/IEC 27002 ISO/IEC 27002:2013
ISO/IEC 12207 ISO/IEC 12207:2008
ISO 21500 ISO 21500:2012
ITIL ITIL 2011 edition
PMBOK PMBOK Guide- Fifth Edition




II. Logic Circuit

Graphic symbol Explanation

AND gate

NAND gate

OR gate

NOR gate

Exclusive OR (XOR) gate

Exclusive NOR gate

Buffer

NOT gate

¥IVIVIQI919|910[0

Three-state buffer (or tri-state buffer)

Note: The small circle or “bubble” on either thepuh or output
terminalshows inversion or negation of the logic state.

Company names and product names appearing in #mieation questions are trademarks or registered
trademarks of their respective companies. Notettiea® and ™ symbols are not used within.



Q1. When a total of 400 data records are stored inigwotis memory starting from the
address 0274 which of the following is the address where thst [data record is stored?

Here, each data record occupies one address Iocato each address is represented in
radix notation.

a) 0673 b) 0674 c) 1113 d) 1114

Q2. As shown in the table below, 100 out of 100,000epdés have a cancer. When a cancer
screening test has an accuracy of 99% for patigitisa cancer and an accuracy of 96%

for patients without a cancer, the equations bdiold for A, B, C, andD.

A
A+B

x100=99

D

x100=96
C+D

Which of the following is the probability (in pemtage) that a patient with a positive test

result has a cancer?

Number of patients
with a positive test

Number of patientg
with a negative tes

t

Total

result result

Patients with a cancer 100

99,900

Patients without a cancer

Total 100,000

a) 0.001 b) 2.418 c) 97.582 d9.999

Q3.

When the word list of a dictionary is searcheddorexact matching word, which of the

following is the most appropriate data structuretémms of runtime computational
complexity?

a) Array
c) Hash table

b) Binary search tree
d) Linked list



Q4.

There is a water tank that is equipped with a fatwdill the tank with water and two
sensors (S1 and S2) to control the faucet. S1S#hdre used to check the lower and
upper limits respectively. If the water level hettank is lower than the specified limit,
the sensor indicates 0. Otherwise, the sensocate 1. In order to keep the water
level between the lower limit and the upper lirthie faucet is opened (i.e., ON) or closed
(i.e., OFF), on the basis of the signals of S1 &2d Which of the following is an
appropriate state transition diagram that show$ susituation? Here, in the diagram,
the left and right bits of the 2-bit input data icete the signals from S1 and S2
respectively.

a)
iz G

00

b)
11

G O

g G




Q5. For the post-order traversal of a binary searah where the left and right subtrees of the
root node contain 1000 and 100 nodes respectiwgidich of the following is the number
of nodes that are processed before the root nodsiied?

a) 0 b) 100 c) 1000 d) 1100

Q6. When the procedure shown below is executed indlisteer, what is stored in variabf@
Here, the stack and queue structures are initatipty, and four types of operations are
defined as shown below.

[Operations]
push ): Put valuexin the stack.
pop (): Retrieve the value from the stack.
enq &): Put valuex in the queue.
deq (): Retrieve the value from the queue.

[Procedure]
eng (1)
eng (2)
push (3)
push (deq ())
eng (4)
push (deq ())
y < pop ()

a 1 b) 2 c) 3 d 4
Q7. When the selection sort algorithm is used forisgrthe dataset “2, 4, 6, 8, 10, 12, 14,
14” in descending order, how many data exchangesraturing the sorting process?

a) 4 b) 5 c) 6 d 7



Q8. There is a circular queue implemented with a omeedisional array oh elements.
Insertion and removal of data are performed bygisim array index as a pointer. Two
pointersF and R are respectively used for removal and insertionachEof the two
pointers is initially zero (i.eF=R=0). = When the queue is empty or full, which a# th
following is the appropriate combination of theatedns between the two pointers?
Here, ‘x mody” represents the remainderxoélivided byy.

Full queue Empty queue

a)| F=R F=(R+1) modn

b) | F=(R+1) modn F=R

c) | F=(R+1) modn R=(F+1) modn
d) | R=(F+1) modn F=R

Q9. Which of the following is a computer architectuhatt enables the processor to execute

instructions in parallel by using hardware to dyrcatly allocate the arithmetic units that
execute multiple instructions at the same time?

a) Pipeline b) Super-pipeline c¢) Superscalar d) W/

Q10. In a paged virtual storage system, when a TLB (Jledion Lookaside Buffer) is used to
translate a virtual address to a physical addredernthe conditions shown below, how
many clock cycles on average are required to ta#msin address through the TLB?

[Conditions]
1. Ittakes 1 clock cycle to translate an addrésiseatime of a TLB hit.

2. It takes 40 clock cycles to translate an addsésise time of a TLB miss hit.
3. The TLB miss rate is 0.5%.

a) 1.039 b) 1.040 c) 1.195 d) 1.200



Q11. Which of the following is the addressing mode veh#re operand of an instruction is
used to point to the memory address that conthmstdress of the data to be operated

upon?
a) Direct addressing b) Immediate addressing
¢) Indirect addressing d) Register addressing

Q12. Which of the following is an appropriate charadgci of Bluetooth?

a) A maximum of 127 devices can be connected togleshost.

b) The communication ports must be positionedstraight line facing each other.

c) The short range (up to about 100 m) of wirelesse/data communication is defined.
d) The standard allows communication to be perforatea distance of 1,000 m or more.

Q13. Among the RAID systems, which of the following shblbe used in cases where
maximum storage capacity is required but data réaooy or fault tolerance is not a

requirement?

a) RAIDO b) RAID 1 c) RAIDS d) RAID6

Q14. Which of the following is an appropriate explanatmpncerning a fault tolerant system?

a) A system that consists of multiple processomeoted through a network and shares
resources located in the network

b) A system that has a backup system at a remat&idmn in preparation for the
occurrence of a local disaster or other accident

c) A system that is designed so that the functi@ugired for the overall system can
continue to operate even in the event of a pddihlre

d) A system that processes a single transactigrarallel by using multiple processors
and verifies the results by cross-checking



Q15. The response speed of a database server is slaved dven though no application is
changed. As shown in the table below, the possiaieses and the investigation items
are considered to identify the cause. Which of tbkowing is an appropriate
investigation item that should be inserted in bl@ak

Possible cause Investigation item|

* An increase in load because of the coexistence of
another system on the same machine

e An increase in the amount of communication A
because of an increase in the number of connetted
clients

» The generation of SQL statements that require a
large processing time because of atypical searches

e Anincrease in disk I/O because of fragmentation

» Alack of buffer capacity in the database

a) Confirmation of changes in external factors
b) Identification of slow processes

c) Investigation of the hit ratio of cache memory
d) Verification of the status of data storage

Q16. The table below shows the priorities of three taskgther with the operation sequence
and processing time of the CPU and I/O device wkaoh task is executed in a
stand-alone mode. What is the idle time (in nellisnds) of the CPU from the moment
when all three tasks become ready to execute simedusly until the execution of the
three tasks is completed? Here, there is no I/@etion, and the overhead of the OS
can be ignored. In the table, the number enclasgurentheses shows the processing
time for each operation.

Operation sequence and processing time (in mitisds)
when each task is executed in a stand-alone modsg

High CPU (3)— 1/0 (5)— CPU (2)

Priority

Medium CPU (2)- 1/0 (6)— CPU (2)

Low CPU (1)— 1/0 (5)— CPU (1)

a) 1 b) 2 c) 3 d) 4



Q17. Among the combinations of the storage managemaehtremultiplicity of programs in
a multiprogramming environment, which of the foliog is the combination where
“thrashing” is most likely to occur?

Storage management Multiplicity of programs
a) | Real storage system Large
b) | Real storage system Small
c) | Virtual storage system Large
d) | Virtual storage system Small

Q18. Which of the following is an appropriate explanatconcerning a memory leak?

a) An increase in the number of applications exatutoncurrently causes excessive
paging, and results in an extreme reduction ofuhingut.

b) In the system with a restriction on the sizenoémory allocated to the running
programs, each program module is loaded into ma&many only when needed.

c) Part of main memory occupied during applicatsecution is not released because of
a bug of the application or OS, and the usableespmain memory decreases.

d) The total amount of free space available in nmaémory is sufficient, but no space
can be used for loading a large program becauserafontiguous memory blocks.

Q19. In a white box test, which of the following is ustdevaluate the proportion of lines of
code that are executed?

a) Assertion checker b) Simulator
c) Static code analysis d) Test coverage analysis

- 10 —



Q20. When the source code based on OSS licensed undeisG#®t released to the public,
which of the following is regarded as a violatidrtlee license?

a)

b)

c)

d)

A company develops and sells an interface kitvben OSS and other application
software.

A company obtains, modifies, and sells OSS tijinaihe company’s own operations or
activities.

A company outsources the modification of OS&nother company for the purpose of
internal use.

A company sells its own software whose perforceatest has been performed by
using OSS.

Q21. The logic circuit shown below has four input sign@,, C,, C3, andC,) and two selector
signals § andS;). The two selectors are used to control the foput signals so that
only one input signal can pass to the output powhich of the following is an
appropriate combination of the selector sigralsand S, that allowsC; to pass to the
output port?

C )
G
Output
G >
Cy )
A A
S] S2
S S
a) 0 0
b) 0 1
C) 1 0
d) 1 1
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Q22. A power supply unit has a rated output power df ®@tts and an efficiency of 80%. In
order to obtain an output power of 500 watts frdns power supply unit, how many
watts is the minimum input power?

a) 100 b) 400 c) 625 d) 900

Q23. Which of the following is an appropriate descriptimconcerning flash memory?

a) It can write data electrically and erase iaalbnce with ultraviolet light.

b) It can write data electrically and erase it &leally in units of blocks.

c) Itis often used as cache memory because dfitiespeed rewritable capability.
d) It needs to rewrite (i.e., refresh) data withigiven period of time.

Q24. A shop sells approximately 200 types of productdmong the input items for a new
product on the registration screen, which of tHewang is the input item that is suitable
for using a pull-down menu as an input method?

Input item Format and rules

a) | Product number| Each product number consists®niumeric characters.

Each product name consists of 40 or fewer alphaname

b) | Product name
characters.

There are five categories, and each category deraid0 or

€) | Product category ¢, er alphanumeric characters.

Each price has a 3- or 4-digit numeric value witiarsge

d) | Price from 100 to 1,000 dollars.

- 12 —



Q25. Which of the following is an explanation concernthg morphing technique in computer
animation?

a) Ahand-drawn outline is read with a scanner,asithgle particular color is applied to its
enclosed area.

b) A two-dimensional animation with a sense of taptgenerated, independently of the
background, by creating and superimposing multipi@ges with parts involving
movement in descending order of distance from tbeer.

c) In order to represent the smooth transformatiappearance from an image to another
image, multiple intermediate images are created.

d) The actual movement of a body is collected g#alidata, and on the basis of such
data, multiple images with realistic movement aeated.

Q26. Which of the following is an appropriate explapaticoncerning the data structure in a
relational database?

a) Data and methods are unified (i.e., encapsylatedl stored.
b) Data is represented with one or more two-dinwraitables.
c) Parentrecords and child records are linked witlvinter.

d) Tags are used to represent data structure aadinge

Q27. In a relational database, there are two conditiblaé must be met as a primary key
constraint. One condition is that there are nolidage key values. Which of the
following is another condition?

a) The primary key must be composed of only onaroal

b) The primary key must be defined as the firstiool of a table.

c) The primary key value must match the candidatedt another table.
d) The primary key value must not be null.

- 13—



Q28. In order to find all rows from the “Books” tableat include “UNIX” in the title, the SQL
statement is used as shown below. Which of tHeviahg is an appropriate character
string that is specified in blank? Here, the title is stored in the “Title” colurohthe

“Books” table.

SELECT * FROM Books WHERE Title LIKE '[ A |’

a) %BUNIX b) %UNIX% C) UNIX d) UNIX%

Q29. Which of the following is the relational operatitrat corresponds to the manipulation of
the SQL statement for Table R shown below?

R

Al | A2 | AB | Ad | A5

[SQL statement]
SELECT Al, A3, A5 FROM R

a) Difference b) Join
c) Projection d) Selection

- 14 —



Q30. When the SQL statement below is executed undergthen conditions, what is the
maximum number of rows that are created?

SELECT P.ProductID, P.ProductName, S.SalesAmount
FROM Product P LEFT JOIN Sales S
ON S.ProductID = P.ProductID

[Conditions]
1. There are two relational database tables “Prodund’“Sales” as shown below.

Product: ProductlD, ProductName, UnitPrice
Sales: ProductID, SalesQuantity, SalesAmount

The relationship between “Product” and “Sales” llastrated by using a
UML class diagram as shown below.

ES
Product L1 0.. Sales

2. There are 2,000 rows in the “Product” table and,@00 rows in the “Sales” table.
a) 2,000 b) 100,000 c) 101,999 d) 200,000,000
Q31. In computer networking, which of the following iset most appropriate technical term
that means the variation in packet delay that catlse degradation of the QoS (Quality
of Service) of real-time audio or video streamiegvice such as VolP?
a) Crosstalk b) Glitch c) Jitter d) Ripple
Q32. Which of the following is the network device thaiadles LANs to be interconnected at
the physical layer of the OSI basic reference nfbdel
a) Bridge b) Gateway
c) Repeater d) Router
Q33. Which of the following is a mechanism that enalaleriety of information, such as still

images, movies, and audio, to be sent via e-mail?

a) FTP b) MIME c) POP3 d) TELNET

- 15 —



Q34. In a TCP/IP network using IPv4 addresses, whichheffollowing is a valid network
address? Here, the number following a slash (thé number (in decimal) of bits
allocated to represent the network number.

a) 123.0.0.30/27 b) 150.60.0.130/25
c) 196.74.38.20/28 d) 210.11.190.192/26

Q35. Which of the following is the effect that is expedtby duplexing a server configuration,
as shown in the figure below?

Original Duplex
configuration configuration

Even when server 1 stops, the service
continues by switching to server 2.

e intermet>
- .

i

Server Server l<— Server 2
(running) :> (running) 'rzlglrgaitoring (standby)
= =
Data
a) Improvement in accountability b) Improvemeanavailability
c) Improvement in confidentiality d) Improvementntegrity

Q36. When Mr.A sends MrB an e-mail with a digital signature created by ggpublic key
cryptography, which of the following is the appriape combination of the keys that are
used by MrA and Mr.B?

Key that Mr.A uses to | Key that Mr.B uses to
create digital signature| verify digital signature

a) Mr.A’s private Key MrA’s public Key

b) Mr. A’s public Key Mr.A’s private Key

C) Mr. B’'s private Key MrB's public Key

d) Mr. B's public Key Mr.B’s private Key

- 16 —



Q37. When security attacks to a computer system aresifilss into three categories (i.e.,
reconnaissance attack, access attack, and Do®)attdich of the following is classified
as a reconnaissance attack?

a)
b)
c)
d)

Attempting to discover and map out systems,icesy or vulnerabilities
Compromising the availability of a network, hast application

Exploiting known vulnerabilities in authenticati services or other Web services
Sending an extremely large number of requests @wetwork or the Internet

Q38. Which of the following is an appropriate explanaticoncerning the security attack that
is classified as DNS cache poisoning?

a)

b)

d)

In order to block the service that is an attiriget, an attacker sends a large number
of recursive queries by using the DNS server ds@g stone.

In order to obtain internal information, the ranformation stored in the DNS server
is transferred all at once.

Incorrect domain information is injected intcetNS server referenced by a PC,
which leads the PC user to a fake Web server.

The version information of the software usedald)NS server is obtained to identify a
security hole in the DNS server.

Q39. Which of the following is a method for preventiag SQL injection attack?

a)

b)

d)

Ensuring that the input characters are notpné¢ed as characters that have a special
meaning in an inquiry or operation to the database
Rejecting an input text if the overall lengthtbe input text exceeds the applicable

maximum size limit
Rejecting an input text that contains the chiarastring (. ./) that specifies a higher

level directory
Replacing the HTML tags of an input text witthet character strings that are not

interpreted as HTML tags

- 17 -



Q40. When the procedure below is performed in termseotigty, which of the following can
be done by recipier, in addition to the detection of message falsifto#

[Procedure]
Process of sendér
(1) Ahash function is used to generate a digesh fa message.
(2) The sender’s secret signature generation kessésl to generate a signature for
the message from the digest generated in (1).
(3) The message and the data generated in (2gatécsrecipienB.

Process of recipierd
(4) A hash function is used to generate a digest fihe received message.
(5) The received data, the digest generated in §hd senderA’s signhature
verification key are used to verify the signature.

a) Confirming that the message is from sem&er
b) Detecting wiretapping on the message

c) ldentifying the areas of falsification

d) Preventing leakage of the message

Q41. Which of the following is the security attack th@shown in the procedure below?

[Procedure]

(1) An attacker creates a bogus Web site undediigeiise of a financial institution.

(2) The attacker pretends to be an employee ofitla@cial institution and sends an
e-mail that describes a URL leading to the bogub %e.

(3) The recipient of the e-mail trusts the e-mad &licks on the URL. The recipient
is then led to the bogus Web site.

(4) The recipient does not notice that the Web stebogus, and the entered
authentication information is passed to the attacke

a) Bot b) DDoS attack
c) Mail header injection d) Phishing

- 18 —



Q42. Which of the following is regarded as risk sharargisk transfer?

a)
b)
c)
d)

Breaking down or aggregating risks into manalgeabits
Distributing risk to other parties by purchasingurance
Eliminating the source of a risk

Reducing the rate of occurrence of loss or damag

Q43. When a packet filtering firewall controls packetsdccordance with a list of rules as
shown below, which of the following is the appr@pe control for packef defined
below? Here, the firewall checks the rules inelisbrder.
applied, the remaining rules are not checked.

If any one of the rules is

[List of rules]

Number Source| Destination Protocol Sgg:;:e Destination Action
Address| Address Port number
number
1 10.1.2.3 * * * * Blocked
2 * 10.2.3* TCP * 25 Permitted
3 * 10.1% TCP * 25 Permitted
4 * * * * * Blocked
Note: “” represents an arbitrary value or pattern.
[PacketA]
Source | Destination Protocol Source Destination
Address Address Port numberr Port number
10.1.2.3 10.2.3.4 TCP 2100 25
a) Blocked by number 1 b) Blocked by number 4
c) Permitted by number 2 d) Permitted by number 3

Q44. Which of the following is a method that is used docrypting e-mail?

a) BASE64
c) PNG

b) GzIP
d) S/MIME
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Q45. Which of the following is the function that can ipgplemented with HTTPS?

a) Detection of the falsification of a file on a Weerver
b) Intrusion detection for a client

c) Server authentication with an electronic cexdife

d) Virus check on a client

Q46. The diagrams used in UML 2.x (including 2.0 angdaersions) are categorized into two
types of diagrams: structure diagrams and behak@mrams. Structure diagrams show
the static structure of the objects in a systemeha¥ior diagrams show the dynamic
behavior of the objects in a system. Which of fo#owing is an appropriate
combination of diagrams that belong to each catégor

Structure diagram Behavior diagram
a) Class diagram Sequence diagram
Component diagram Use case diagram
b) Component diagram Communication diagram
Object diagram Deployment diagram
o) Deployment diagram Activity diagram
Object diagram Component diagram
d) Object diagram Sequence diagram
Use case diagram State machine diagram

Q47. According to the ISO/IEC 25010 standard, the qualibperties of a software product or
system are categorized into eight characteristioactional suitability, performance
efficiency, compatibility, usability, reliabilitysecurity, maintainability, and portability.
Which of the following is the appropriate explanatiof “performance efficiency”?

a) Degree to which a product or system can be bsedpecified users to achieve
specified goals in a specified context of use

b) Degree to which a product or system providesb#ifies relative to the amount of
resources used under stated conditions

c) Degree to which a product or system providestions that meet stated and implied
needs when used under specified conditions

d) Degree to which a system, product, or compoperforms specified functions under
specified conditions for a specified period of time
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Q48. Which of the following is an appropriate delivel@tthat must be approved when the
external design of a system is completed?

a) Physical database specification b) Programdi@st plan
c) Screen layout d) System development

Q49. In terms of the test coverage of a program modwleich of the following is an
appropriate explanation of the relationship betweath coverage, branch coverage, and
statement coverage?

a) 100% branch coverage implies 100% path covdragrot statement coverage.
b) 100% path coverage implies 100% statement cgedrat not branch coverage.
c) 100% path coverage implies both 100% branchregeeand statement coverage.
d) 100% statement coverage implies 100% branchrageeout not path coverage.

Q50. When an integration test is performed by using tdgdown approach, which of the
following is particularly necessary?
a) Debugger b) Driver
c) Emulator d) Stub
Q51. Which of the following is a characteristic of a j@ct?
a) A project is both unique and temporary.
b) A project is neither unique nor temporary.

c) A project is not unique but is temporary.
d) A project is unique but not temporary.
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Q52. There are four activitied throughD shown in the table below. ActivitigsandB can
be performed in parallel. However, the other ai#is cannot be done until their
preceding activities are completed. For examPleannot begin untiB is completed.
Which of the following is the appropriate arrow gliam that corresponds to this table?
Here, a dotted line shows a dummy activity.

Activity | Preceding activity
A N
B N
C B
D A B
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Q53. Which of the following is an appropriate purposeusing a WBS (Work Breakdown
Structure) in software development?

a) To clarify the time sequence of activities, amdlerstand the critical path that should
be intensively managed

b) To decompose all development activities into lEnateps with a manageable size,
and organize them into a hierarchical structure

c) To optimize the total cost when there is a trafleelationship between the number of
days and cost that are required for development

d) To show the schedule of each activity by usifgpazontal bar, and clarify not only
the start and end points of each activity but gteoprogress at the current point

Q54. The figure below shows part of a so-called fishbdisgram. Which of the following is
the relationship betweehandB?

=

B
a) Bis a cause oA b) Bis a means oA
c) Bis apurpose oA d) B is an attribute oA.

Q55. Which of the following is an explanation concernam@areto chart?

a) It is used to identify problems by sorting thassified items in descending order of
frequency of occurrence and illustrating a bar thah a cumulative line chart.

b) It is used to objectively manage the variatiorthe data occurring in time series by
expressing it as a line graph and using contrat limes.

c) It is used to systematically arrange the refaigps between cause and effect in a
fishbone format, and clarify which causes are eeldb a particular result.

d) It is used to understand the variation in quahy classifying the collected data into
several sections and plotting the number of ddtanigeng to each section as a bar graph.
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Q56. The table below shows seven activities, theirti@hghips, and the number of days
required to complete each activity in a softwarevedlgpment project. When the
activities A and B begin simultaneously and are performed in paralidlich of the
following is an appropriate Gantt chart that copeesds to this table?

Activity | Preceding activity | Number of days requirgd
A - 3
B - 4
C A 6
D A 4
E B 4
F D 3
G C E 5
A
a
) B
C
D
E
F
G
b A
) B
C
D
E
F
G
A
c
) B
C
D
E
F
G
d A
) B
C
D
E
F
G
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Q57. Which of the following is an appropriate policy foneating an SLA?

a) Setting a compensation as a penalty for eveny that has a service level

b) Setting a service level for every item that bartaken into consideration

c) Setting a service level that is maintained thivfuture without any changes

d) Setting a service level under the cost and nekdsservice provider and its customers

Q58. Among the management functions for service suppdnich of the following has the
objective that aims to restore agreed service ¢ohilsiness as soon as possible or to
respond to service requests?

a) Business relation management b) Change manageme
c) Incident management d) Problem management

Q59. Which of the following is the most appropriate dgston concerning a backup method
for data?

a) In consideration of a possible response delayusiness processing, a backup
schedule is adjusted so that it does not overlap beisiness processing.

b) In order to shorten the time necessary for &igamperation, backup data with a
different file name is placed on the same storagdiom.

c) In order to shorten the time necessary for regp¥rom the backup data, differential
backup is used.

d) In order to store the backup data for a longogleof time, a random access medium is
used.
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Q60. When software asset management is audited, wHi¢heofollowing is an appropriate
point to be checked?

a)

b)

d)

Checking to see if compatibility with existingsgems is evaluated at the time of
installation

Checking to see if evidence, such as a softliGarse certificate, is properly filed and

retained

Checking to see if failures are properly locatizhrough database partitioning or other
methods

Checking to see if the organizational and fuor@l structure of the software provider
is taken into consideration

Q61. Among the situations that are checked during antafdthe methods of transmitting
highly confidential information to a business partby e-mail, which of the following is
an appropriate situation from the viewpoint of @eting information leakage?

a)

b)

d)

A password is set for an attached file contgintonfidential information prior to
being sent to the partner by e-mail, and the paskigdransferred in another way.

A password is set for an attached file contgn@onfidential information, and the
password is described in the body text of the saumail that is sent to the partner.
Confidential information is directly describadthe body text of an e-mail that is sent
to the partner.

Confidential information is uploaded to the pablNeb site of the company, and the
URL of the corresponding page is sent to the patigee-mail.

Q62. Which of the following is an appropriate activityat is undertaken by a system auditor
who makes an audit of access control?

a)
b)
c)
d)

Creation and storage of management recordséasa control concerning software
Establishment of a management policy for acceagrol concerning network
Implementation of operations management for gecentrol concerning hardware
Verification of the management status of accessgrol concerning data
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Q63. Among the architectures included in the “four damsaiof the enterprise architecture,
which of the following is the architecture othemthbusiness architecture, technology
architecture, and application architecture?

a)

c)

Bus architecture b) Data architecture
Software architecture d) System architecture

Q64. IT investment evaluation is performed as prior eatibn, interim evaluation, or post
evaluation according to each stage of the planngxgcution, and completion for an
individual project. Which of the following is anxganation concerning “prior

evaluation”?

a)

b)

d)

Analyzing in detail not only the differencesweeén the execution plan and the actual
results but also their causes, and determining lveinethe investment amount and
performance objectives need to be changed

Evaluating the status of achievement of the quarhnce objectives that are set
beforehand, and on an as-required basis, consipddéha improvement plan for
achieving the original objectives

Planning beforehand the period of achieving peeformance objectives and the
method of collecting the data necessary for evaloaand then performing evaluation
according to that period

Setting the performance objectives based omptnpose of investment, and providing
the top management with information necessary fterthining the feasibility of
implementation

Q65. Which of the following is the purpose of definindasiness model at the planning stage
of total optimization in an information strategy?

a)

b)

d)

To confirm operational procedures in order teat# user manuals and operations
manuals required for the actual operations of fi@mation system

To identify the components, such as hardwaréwace, and networks, which are
required to build the information system

To organize the relationships between a compagntire business operations and their
utilized information, and establish a clear visionthe information system

To understand the scope and development scalengputerization, and estimate the
required time, person-hours, and costs for systeveldpment
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Q66. When a computerization plan is made, which of tb#oWing is an item to be
considered?

a)

b)

d)

Clarifying the cost and investment effect of ttlevelopment, maintenance, and
operations of the system

Describing the test plan, operation manuals,ragdsures against failures in a specific
and clear way

Installing an equivalent system used by othenganies in the same industry in order
to avoid failures

Proceeding with the plan on the premise thassystem is developed by a company’s
own staff in view of system operations

Q67. Which of the following is an explanation concernimgn-functional requirements

definition?

a) It clearly defines the business functions thatperformed by manual operations rather
than automated systems, from among the businesseatnts.

b) It clearly defines the conformity of the new kage to be installed, in order to
implement business requirements.

c) It clearly defines the functions that are nqamarted in the current system, in order to
determine the business requirements.

d) It clearly defines the quality requirements,ht@cal requirements, and operational

requirements necessary to implement business ssqgeirts.
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Q68. The matrix shown below is used for PPM (ProductifBio Management). Which of
the following is the purpose of analyzing businpEms and competitive superiority by
using this matrix?

d)

Business strengths
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To evaluate the current position of a companyhab the promotion effect set as an
objective can be measured

To evaluate the current position of a companthasbasis for setting an objective and
prioritizing resource allocation

To evaluate the marketing tactics for maintajrencompetitive edge in the market by
setting an objective and improving product quality

To evaluate the change in the market by consigeseasonal fluctuation factors and
geographical distribution, in order to set an otiyec

Q69. Which of the following is an explanation concerniagfranchise chain in the retail
industry?

a)

b)

d)

A form of organization where a group of outlatres are opened in a commercial
shopping area that is developed under a localgiomal development plan

A form of organization where a head office alkoits members to use the trademarks
and signs, and also provides managerial trainirgd) assistance, at a fixed rate of
compensation

A form of organization where a wholesale disitdr plays a leading role and multiple
retailers voluntarily participate to gain the benebf cooperation while their
independence is maintained

A form of organization where multiple retailggerform their business activities, such
as procurement, inventory management, and prodcvelopment, in cooperation with
each other
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Q70. Which of the following is the primary purpose ofplementing an ERBystem that is
used for business management?

a)

b)

c)

d)

To build a long term relationship with the cumer as a result of deepened
understanding of customer’s needs and desire

To integrate all departments and functions ace£ompany into a single computer
system that can serve the entire company’s needs

To maximize the value added along the seriedudiness operations including
purchase, production, sale, and distribution

To transform raw data into meaningful and usé&itdrmation for business purposes
and implement an effective strategy that can pmeidompetitive market advantage

Q71. Which of the following is an appropriate explanaticoncerning product innovation in
the management of technology?

a)
b)
c)
d)

Developing a new or differentiated product ikat key to success
Making an operating profit through the resultseghnology development
Making progressive reforms in the business m®ce

Managing strategic business that revolves ard¢ectthology

Q72. Among the various types of e-commerce transactitsch of the following is an
appropriate example of B2C (i.e., “B to C")?

a)
b)
c)
d)

CompanA places an online order of materials from its sigppgivice a month.
Mr. B buys a book from an online shop owned by Company

Mr. B pays an annual tax via a Web site hosted by theatdax office.

Mr. B posts an online advertisement to sell his carfewadly Mr. C buys it.
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Q73. Which of the following is an explanation concernteDI?

a)

b)

d)

A communication service that provides added eslusuch as storage of data
transmitted over networks and conversion of data&bs

An international standard for e-mail servicesdzhon the OSI model, which provides
comprehensive services for the generation, trarssomsand processing of messages
An ordering system that enables orders to beepldy transmitting order information
from a data entry terminal to the head office supplier

The exchange of business transaction data betwemputers over the Internet or
other dedicated communication lines, in accordavitte standard protocols

Q74. Which of the following is an organization structuwvbere employees report to both their

individual immediate managers and a cross functieader and try to achieve

coordination between program groups and centratigtrolled groups of functional

specialists?
a) Divisional organization b) Functional organiaat
c) Matrix organization d) Project organization

Q75. Which of the following is an explanation concerniting accountability at an executive
managerial level?

a)

b)

d)

A company quantifies the cost involved in enmimental maintenance and its effect,
and announces them periodically as financial infdrom.

A management executive has responsibility fompla&Ering the content and
performance of business activities to shareholdedsother interested parties.
Appropriate information that is necessary foveistment decisions is provided to
investors and analysts on a timely and ongoingsbasi

Rules, manuals, and checking systems are estallion the basis of corporate ethics,
and corporate management is performed in accordaiticéaws.
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Q76. Which of the following is a case example that igetle for ABC analysis?

a) A detailed forecast of sales and stock requirdsneeeds to be analyzed to prevent a
shortage of stock.

b) Information about the combination of productattare purchased by customers needs
to be analyzed.

c) Market demand needs to be analyzed by conduatipgestionnaire survey of opinion
leaders in each region.

d) The hot-selling products need to be analyzetherbasis of the sales value and gross
profit of each product.

Q77. CompanyT sells three types of produdds B, andC. At present, products, B, andC
are sold to 10,000, 20,000, and 30,000 customespectively every month. The
product lineup is to be updated from the next yaad four new types of produd® Q,

R, andSare to be sold.

As such, the ratio (in percentage) of current qusie who are expected to buy new
products and the number of new customers are dstihas shown in the table below.
Which of the following is an appropriate descripticoncerning this estimate?

Number of customers P Q R S
A 10,000 50% 30% 10% 10%
B 20,000 10% 60% 10% 10%
C 80,000 10% 10% 30% 30%
Number of current customers 15,000 23,000 27,000 ,0087
Number of new customers 5,000 7,0p0 13,000 23,000

a) Among the customers of prodégtl,000 customers are expected to buy proQuct

b) Half of the prospective customers of prodBcare expected to be the customers of
productA.

c) The customers of produBtare expected to buy any one of prodi®1®, R, andS.

d) The number of new customers of prod8ads expected to be less than the number of
customers of produ@ among the customers of prodat
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Q78. When a single-license software package is purchased company, which of the
following is an activity that is usually permitted conformity with the concept of the
WTO'’s Agreement on Trade-Related Aspects of Intalial Property Rights (TRIPS)?

a) Installing the software package on a large nunobeomputers that are used for the
company’s business

b) Making a backup copy of software for the limitpdrposes, such as the licensee’s
personal use or a temporary copy for maintenance

c) Modifying the software package for the compangternal use and using it on a large
number of computers in the company

d) Placing the software package on the companysrnal Web site so that staff
members can download and install it

Q79. When the carry-over from the previous month andain@ntity of inventory transactions
for a product are as shown in the table below, whahe cost of sales (in dollars)
calculated for the current month by using the {iinsfirst-out method?

Transaction quantity L
Date Type of transactior o L Unit price
a yp Receiving | Shipping | (dollars)
quantity guantity
1st Carr_y-overfrom the 100 200
previous month
5th | Purchase 50 215
15th | Sales 70
20th | Purchase 100 223
25th | Sales 60
Carry-over
30th to the next month 120
a) 26,290 b) 26,450 c) 27,250 d) 27,586
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Q80. Among the descriptions concerning personal datactwiof the following isnot an
appropriate description from the viewpoint of “OEGRuidelines on the Protection of
Privacy and Transborder Flows of Personal Data”?

a)

b)

c)

d)

Personal data should be allowed to be acquiredowithnnouncing the acquisition of

such data.
Personal data should be handled within the sobgke purpose of use agreed by a

data subject.
Personal data should be kept accurate, completkyup-to-date within the scope of the

purpose of use.
Personal data should be outsourced to a thiry péter the prior consent of the data
subject.
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